


Ch . 17-RADICALS

02 +3 =

② 655-255 =

③ 653 + 255 =

① 25 + 382 + 45
- E=-

⑤ x T =

⑥ 255 x3 =

⑦=
-
NOTE : IMPORTAN

CONCEPT
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MORE SIMPLIFYING RADICALS

8142 = 488 =

22 + 35 =

4 + 658 =



SYSTEMATIC REVIEW

FACTORING TRINOMIALS

x2 + 7x + 12 2xz + 6x - 56





LESSON PRACTICE 17A

Use a calculator to find the value of the radicals to the nearest hundredth.

13. /5 .

14.

15. /14 .

Fill inthe blanks.

16. The symbol is known as a squareroot, or sign.

17. When multiplying radicals.
and radicalstimes

takenumbers times

18. Anumberwhosesquare
a perfect

root is a wholenumber isknown as












